A(0,-2),B(3,3),C(4,0) ?1 AABC 9] Wol=7?

@ 6 @ ® 8 @ 9 ® 10

B

BC= /(4-3)2+(0-3)2= V10
E, A4 BCO A2 3x+y-12=0°|2&
A(0,-2) 27 A4 BCo i =419 T& Het ot

AT — -2-12 14
TVEIR Vi

.~.AABczé.m.m=7




T AM 3x—4y-2 =0, 5x+12y—-22 = 0 0] o] FE& 7+ o] 5 H3E=
2 0] g A Fol A 71 717F &%l Aol ax + by + ¢ = 0 4 o,
a+b+c 9 = Fotoiet

S5r+12y—22=0

PQ=PRo|EZR
I3X —4Y - 2| |5X + 12Y — 22|

VO+F16 V25t 144
13(3X — 4Y — 2) = £5(5X + 127 — 22)
=, 13(3X —4Y - 2) = 5(5X + 12Y - 22) £ &=
13(3X — 4Y — 2) = —5(5X + 12Y — 22) 2|54
x—8y+6=0FE8x+y-17 =0 oA
71&717t GolBE
T x—8 +6=0
La+b+c=-1




HAG, 2 A x+2y-2=09%E 2Fol= A P7l otk APE

1 : 302 YEst= Ho| 25=?

O x-2y-8=0 @x+2y—8:0 ® x-2y+8=0

@x+2y—|—8:0 @x—?y:O

~&B

P(a, )3 Ha+20-2=0---O
APS 1 : 3RAL Q (x, y) 2 o

_ (a+18 b+6>
_a+18  b+6

“1+3 7T 1+3
a=4x—-18 ,b=4y—-6
ol thdstH,
4x-18+2(4y-6)-2=0=>x+2y-8=0




& 283 gol AAor s2& Fo] k& O
B2HE F£OZ km , &
Ath. E ok 0 2HH $ZO02 5km, BH2 g
= 4km o] §]A]0f w2 P 7k glek. o] wf, vha Yoo

p oA A7 O A AelE papAe gy O O
km )

ojuf, mF-& P ©] #HE+= (5, 4) olth
wrata], A (5, 4) oA A4 x+2y-6 = 0 72| 2] AglE ot
|5+8—6|_i_7_\/5(k )

Vitd 5 5




AT A 20—y - 5+ k(x + 2y) = 0 Ato]o] AZE f(k) 2L &

1
qvwf

@: @ : ®

~&B

A P(x1, y1) W A ax+ by + ¢ = 0 Ate]9] A d+=
_ laxy +by: + ¢
R
QAT AH(2 + k)x + (2k— 1)y — 5 = 0 AFo] 2] 72
v _ =3 _ 5
. 1 P+l
- {rwy 0
webA, k=0 9 o, #H3%t

o A5ge?

ol w
®
SIS

11

{f(0)}

(SN




